Homework 22.3

The nucleus of a plutonium 239 atom contains 94 protons. Assume that the nucleus is a sphere with a
radius 6.64 fm and with the charge of the protons uniformly spread through the sphere. At the surface

of the nucleus, what are the
a. magnitude and
b. direction (radially inward or outward)

of the electric field produced by the protons?

&

\

a) F= 22— 7=

YT €o |

S e w Gl
T 5,93
2/
A
r_ 3 ob X )0



Homework 22.5

A charged particle produces an electric field with a magnitude of 2.0 N/C at a point that is 50 cm away
from the particle. What is the magnitude of the particle's charge?
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1/16/23, 11:09 AM Homework 22.9

Homework 22.9 —
Gt )
Figure 22-37 shows two charged particles on an x axis: - q =-3.20 x 10~ \y
19 Catx=-3.00mandq=3.20x10"9C at x = + 3.00 m. What are the ONd
&G/ ig A
a. magnitude F np \\L»
‘ C ~
b. direction (relative to the positive direction of the x axis) A ﬁ"l b\
of the electric field produced at point P at y = 4.00 m? 4
2 —©
e '51 + 4= AS -
=Xt e ' ‘ Figure 22-37
&‘{ 4
s B 2Ok
S \({ — - /
i S /7
— “J ) :]_{ t EC 7 f ){( // (‘!!
’% -?.i‘: [ r\ﬂ .i," \//\.. '"r:/’ [/ li:j , At L/I
/ 8’ o ] J / o ‘.i}
/ Nau?
| Y\ &t
- oy Latd ]
| < LEA
.. "
A \ S \ \ Lok !
A 4 \
N f\
/‘I'"' B r~) \:" . \
) & =y
- LB o
f"? = - /,,1 \f
/}/— - (e >( /y/——;r’s{ Ql ) /
/ o | =2 '.r. . /Lz’ , )
~ 19y 016 D003 T/
)™y .)(/ /O "“;(‘;’_*

https://jcdaly.com/phys223/23HW/HW22.9.html



Homework 22.11

Two charged patrticles are fixed to an x axis: Particle 1 of charge g4 =2.1x10" 8C is at position x = 20
cm and particle 2 of charge g = - 4.00q is at position x = 70 cm. At what coordinate on the axis

(other than infinity) is the net electric field produced by the two particles equal to zero?
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Homework 22.27

In Fig 22-51 two curved plastic rods, one of charge + q and the other of
charge - g, form a circle of radius R = 8.50 cm in an xy plane. The x axis

passes through both of the connecting points, and the charge is
distributed uniformly on both rods. If g = 15.0 pC,, what are the

a. magnitude and

b. direction (relative to the positive direction of the x axis) of the
electric field E produced at P, the center of the circle?
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